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Which one of the following is the first and the
oldest Covernment-owned coal mining
company in India ?

in) Newyveli Lignite Corporation

b}  Singareni Collieries Company Limited
(ed  Coal India Limited

(d} Muohanadi Coalfields Limited

Which ene of the following ia a tributary of
Barak River in Manipur ?

in} Dhaleswari

(b} Subansiri

e}  Dhansir

id) Manas

Which types of vegetation will you find on the
way as you travel from Bikaner to Konark by
road by shortest distance 7
ta} Tropical thomy,
deciduous, Mangrove

(b} Desert, Tropical thomy,  Moist
deciduoud, Mangrove

(el Moist deciduoos,
Mangrove, Desert

{d) Desert, Tropical thorny, Mangrove,
Muist deciduous

Constder the following statements about
Karewas ;

1.  These are the lacostrine deposits of
Pleistocene period.

2. These are found along the lower slopes
of Pir Panjal,

3. EKarewas are well known for the
cultivation of gsaffron, almond and
walnut.

How many of the above statements isare
correct |

a) 1
B 2
e} 3
id) MNone

Desert,  Moist

Tropical thormy,

(3-A)

Congsider the following statements about an
Indian State :

1. It is well known globally for its variety
of rocks and minersls.

2. It has the largest deposits of Chrysotile
Asbestos in the country.

4. The Neolam Sanjiva Reddy Sagar Hydel
Project is located in this State.

Identify the State from the following
{n} Jharkband

(b}  Rajasthan
{e)  Andhra Pradesh
id} Chhattisgarh

During 2020 - 21, when India was passing
through the adverse effacts of COVID-19,
which one of the following sectors witnessed
positive growth T

in)  Mining and quarryving

ib)  Electricity, gas, water supply and other

utility services

ie}  Finaneial, real estate and professional
Lt

id) Public administration, defence and other
BRTVICEE

Which one of the following statements about a
borrower from & Microfinance Company is not
correct 7

{al 'The borrower should not have annual
income beyvond a limit,

ib)  ‘The borrower should not seek loan
amoinl beyond a limit.

gl The borrower should not refuse to offor o
collateral,

(d} The borrower should not refuse to pay
any rate of interest offered.
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Which one of the following statements about
Mon-Banking Financial Companies (NBFCs) is
nof correct ?

ia} NBFCs cannot accept demand deposita,
(b}  NBFCs cannot give loans.

ic} NBFCs cannot issue cheques drawn on
themselves,

NBFCs cannot offer deposit insurance
facility of Deposit Insurance and Credit
Guarantee Corporation.

tdi

The Department for Promotion of Industry
and Interna! Trade (DPIIT) has revised the
base vear index of Eight Eht'vll; Indusiries
having & combined weight of about
40-27 percent in the Index of Industrial
Production. Which one of the fellowing is not
one of the Eight Core Industries ?

in} Conl

th}  Refinery producta

(e} Rubbéer products

id] Coment

Congider the following statements about the
Micro, Small and Medium Enterprises
(MSMEs) ;

L The MEMEs comprige n dynamic secior
of the Indian economy providing large
employment opportunities.

2 MSMEs require low capital cost and
help industrialization of backward
PEEinE,

3. MSMEs contribute enormously  to
socic-economic development,

How many of the above statements is'are
correct 7

(al None
by 1
{e} 2
dy 3

11

13.

14,

(5-A)

Stinging hair of nettle leaves inject fluid in the

human body causing burning pain. The fluid is
{a) Methanoic acid
(b

{e)  Hydrochloric acid

Tartaric acid
(d}

Sulphurie acid

Milk of Mngnesin is used when people suffer
from indigestion of food. Tt i=a

ig) Strong hase
(b} Mild base
(e) Strong acid
{d)  Mild acid

Which m.'muﬂhu following pairs of metals are
very good condoctors of heat ?

{a)  Silver and Copper

(b}  Silver and Lead

ic)y Copper and Mercury

(d) Lead and Mercury

School bells are made of metals because
metals are

{a) Malleable
{b) Sonorous
el Ductile
idt  Lustrous
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15.

Consider the following statements about

Tincture of Iodine :

1. Itis an antiseptic sohation.

2. lodine iz kept in aleohol-water mixture,
4. Concentration of iodine is very low.

How many of the above statements is/are
correct ¥

ay 1
W 2
e 3

idl None

16. CI is not isoelectronic with
a1 K
by Mg
(e} 8%
id) P+
17. In plant cells
il Nucleus does not need a membrans but
chloroplasts are surrounded by their
own membrane,
ih)  Nucleus and chloroplasts are
surrounded  separately by their own
membrane,
(e} MNucleus is surrounded by membrane but
chloroplusts do not nesd membrane,
{d} Both nuclens and chloroplasts are not
gurrounded by any membrans.
FDGT-5-GKL
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Which one of the following statements about
starch and glycogen is correct 7

{a} Both starch and glycogen are found in
plant cells.

ihi  Bath starch end glyvoogen are found in
animal cells.

(e} Starch is present in plant coclld and
glyengen is present in animal cells.

id)  Both starch and glycogen are present in

plant cells ns well as animal cells.

Which one of the following statements about
the process of photosynthesis is correct 7

ia} Light energy is directly converted to
kinetic energy which oxidizes carbon

dioxide,

i} Light energy is directly converted to
chemical energy which causes reduction

of watar,

(cd  Chlorophyll absorbs the chemical energy
of light which causes oxidation of carbon
dioxide.

(d)  Chlorophyll absorbs light energy which
causes splitting of water molecules and

reduction of carbon dioxide.

Kwashiorkor, a form of malnutrition, is caused
by the deficieney of

{a) Minerals
by Vitamins
¢} Fats

(d) Proteins
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21. Which one of the following pairs of enzymes do
nof work at acidic pH ?
(a) Trypsin and Pepsin
(b} Chymotrypsin and Pepsin
g} Trypsin and Amylase
id] Pepsin and Amyinse
22. Urea is produced by metabolism of
(a) Proteins
{b) Carbohydrates
fe)  Lipids
id] Both Proteins and Carbohydrates
23. Deficiency of iron causes
fal Ansemia
(b Scarvy
(¢) Rickets
{d] Chelers
24, [If an object of mass 10 kg is moving with a
uniform speed of 10 m's, then the lincar
momentum and the kinetic energy of the
ohject, respectively, are
(n) 100 N.= and 500 J
{b) 104 N.s and 1000 J
(e) 200 N.sand 500 J
(d) 200 N.sand 1000 J
FDGT-S-GKL {8-
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Al

An electrical circuit having combinations of
resistances and capacitance is given below,
The current, flowing throogh the croait will
be

6 pF
101461 ”_

10 i}
AN

1001

10V
|r

a} 1A
b} 2A
(el 15 A
id)y O-5A

The' pitch of 8 sound wave depends upon
which one of its following cheracteristics 7

nd Speed

(b} Loudness
fch  Amplitude
idi  Frequency

The devics used for messuring slectric curront
in a cireuit is called

in) Ammeter

by  Motar

ey Volimoter

id) Generator

A metal wire of length | and diameter d has a
resistance K, What would be the resistance of
another wire of the same metdl end of same

length but having double the diameter T
{a) R

thy R4

fe) R

d) 2R
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29. In India, which one of the following is

81.
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responsible for the implementation of the
Government of India's policy in all matters
concerning telecommunicatione ?

ial  Dhgital Communications Commission
{bl  Telecom Regulatory Authority of India
el Telecom Advisory Committes

(dy  Telecommunications Consultants Indis

Limited

Congider the following statements about
dJames Webb Space Telescope (IWST) :

1. It 18 the  largest observatory ever
launched into space., )

2. It has been developed by NASA in
partnership with the Eoropean Space
Agency and the Canadian Space Agency.

Which of the statements given above igfare

correct ¥
{a} 1only
(b} 2anly

ic} Bothland2

(d} Meither 1 nor 2

India has achieved the 10 percent Ethanal

blending much ahead of the targeted date.
Which one among the following greatly
benefits from this 7

(n) Cassava plantations

(b} Maize farming

ie}  Sugar industry
id} Wine industry

{11-A)

Consider the following statements regarding

e-RUPT prepaid digital vouchers :

1 The maximum  amount of e-RUOP] is
rupses one lakh,

2. Benoficiaries  can  receive
without having a bank account,

3. To receive e-EUPl on mobile phones,
beneficiaries need 4 smart phone with
Internet connection,

Which of the statements given above is'are

eorrect T

{a} land2
(b) 3 only
€] land3
(d) 2 only

m-RUPT

Recently, Indias first green hydrogen-based
advanced fuel cell electric vehicle (FOEV) was
launched, It has no tailpipe emiszions other
than

{al Hydrogen peroxide
(by  Nitrogen

(¢} Oxygen
id) Water

Which one of the following languages was
added to the Eighth Schedule by a
Constitutional Amendment in 1967 7

a) Khasi

ib}  Kashmiri
(e)  Sindhi
(dy Trdu

What were Manigramam and Nanadesi in
early medieval India ?

la)  Cluster of nen-revenue paying villages
b Village-lovel community groups

(&) Guilds of Indinn merchants

(dl Literary societies in the eapital towns
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The Duteh were defeated by Marthanda
Varma of Travansore Kingdom in the battle of

ia) Wandiwash

(kY Rakshasi — Tangadi

{2}  Pullalur

idl  Colachil

To which one of the following schools of

philosophy did HKumarila Bhatta and

Prabhakars belong 7

(a) Lokavalo

{bi Madhvamika

e} Purva-Mimamsa

dl  OUttara-Mimarmga

The Talkappivam is

in) A work of grammar,

(b} A Tamil poem in praise of Rajendra
Chola.

ic)  An ancient didactic work in Tamil

id} A drama composed by a Chera King.

iOmn the banka of which one of the following
rivers was the ancient Mahighmati located 7

ial Sarayu
{b) Son

el MNarmads
id) Godavari

Which one of the following statements about
the Public Accounts Committee {PAC) of the

Parliament is med correct

fa! It examines the Finance Accounta of the
Government of India.

fbl  Fifteern members ol the Committes are

elected by the Lok Sabha from amongst
its members.

The Chairperson of the Committes ia
elected by its members,

()

idi In case &8 member of any other
Committes ooreat] b tesd hy thi
Government is elected to the PAC, the
Speaker of the Lok Sabha decides
whether he should continue to be a
member of the former Committes.

FDGT-S-GKL

4l.
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8. Fifth Schadule

Consider the following :

L M.A Ayyangar

2. G.S Dhillon

3. Balram Jakhar

4. P.A Sangma

How many of them were the Spaaker of the

Lok Sabha ?
al 1
(b) 2
(gl 3
d) 4

Congider the following pairs of Schedule and
Content of the Constitution of India :

1. Firat Sechedule : Forms of Oaths or
; AMlirmations

2. Third Schedule : Allocation of seats in
this Counct]l of States

¢ Provigions related to
the administration of
Scheduled Areas and
Scheduled Tribes

¢ Provisione related to
the administration of
tribal areas in certain
States

4. Ninth Schadula

How many of the above paire is‘are correctly
matched ?

in} 1
ik}

e

= e R

e}
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{a) WFA % AN ¥ s=eT 21 F i,
79 AR 74 7% 5y T i T
+ o R ot wFed fimn 3 =
9= FOW |

(b) WHA F AR % wgEeE 26 % iR
v i wvem w9 9 faww
TR w1 wEE w0 g wiE # )

(c) WA % HAUA F e a0 0 79 5
i o wwaman f) wanen w0 % we o
wae ud o g w st sETEEE
! w1 3eera fagn mn & |

dy Ty, fafy g o v % T e
# fim s et =maem =1 o9
st itz o & ot frz a9
a4 & wfew v T w1 wwd |

frafefas & 8 95 gemrm gmat w
woIfa g w8 7

() HIT FH AT AT

th) =

{3 @WWWW
(d) AT &

fr=fiafiga § @ SR sEmd o aifas = d
i w7 s & 7

fa) WA T

(hy EfEwrn (FEEE)
(e) ETEH

id) AR

46, TUgEAY % aR § frefafem 4 @

47,

(14-A)

FHRAYERH T TE 2E 7
1. v (qm) # gfs & o aw A 9fs
B 2

2. fm smwm wawh Sdafereefm of
et feuf &

3, 9% @y wafy sfwew @ o o g9 =
wrE w1 e gudt woaney

A fie e e wr v w A e gf

(n) Heae 1 3 2

(b e 2 3 3

() hHaA#A 1

d) 1,233

frafafiE 4 9 fFe mfie osgEm 4 =P
it feam # 7

[y wIElE

(by Tomre wem

ey Tafem

id)  FEREE

uEA % W % an ° Fofwfes 4 @

TR T wE 2

1. YWA W yivEd 42 wE 7= e,
(Fifem) sz &

2. WA & o az W s yfed @
Afirmm # |

5. g, WRA W qE A2 S SEEE 9 2

© a3 s e w E

Hr fom 2 1 T = EA I 9h

(a) whaw 1 W2

(b Thaw 2 dh g

(¢} THa= 1

d 1,23Mm3
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43. Which ome of the following statements is

correct 7

(a) Under Article 21A of the Constitution of
India, the State shall provide free and
compulsory education to all children up
to the age of eleven voars.

ih)  Every religious denomination has got
abeolute power under Article 26 of the
Comatitution of India to manage its own

affairs in matters of religion.

Only religious and hnguistic minorities
find mentden in Article 30 of the
Congtitution of Indis in reference to the
right  to  establish  educational
institutions of their choice,

Parligment cannot empower, even by
law, any court other than the Suprems
Court of Indin the power to issue writs
within local Hmits of its jorisdiction .

el

(e}

Which one of the following do mof influence
the oeean currents 7

{a}  Heating by solar energy

(b} Wind

(¢} Gravitational pull by Sun and Moon
id)  Doriolis force

Which one of the following sedimentary rocks
has not been formed mechanically 7

ial Sandstone

(b}  Conglomerate
it) Loess

td) Geyserites

47,

(15=A)

Which of the following statements about
inverzion of temperatore is'are correct 7

1. Tempersture increases with increasing
altitude.

2. A long winter night with cloar skios is

4. It is a short term phenomenon and is
comman all over the globe except at the
poles.

Select the torrect answer using the code given
bielow 1

(a) 1 and 2only
{bl  2and 3 only
fc)  Llonly

(dl 1,2and$

In which one of the following StatsalI'T, ia the
Lake Taomgo locatod 7

(n) Ladakh

(bl  Himachal Pradesh
fel  Sikkim

{dl  Uktarakhand

Which of the following statements about the
copzts of India 18fare correet 7

L The West Coast of India is o high rocky,
retreating coast.

2 The West Coast of India is dominated by
orosionsl landfnema.

4  The Esst Coast of Indis, however, iz a
low  sedimentary coast exhibiting
dopositional forms.

Select the correct answer using the code given
bedow -

ia) 1and2only
(b} Zanddonly
2l 1 only

(@ 1,2 und'g
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w7 Frafefen & # fm reafam e A 2 )
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(e

iy M4
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by T
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(16-A)

53, WA wEn g gt Fefefa osm
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=i, 2020
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() wagl HhEw, 2019

(di st goen wfen, 2020
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Euil

$ afewr 3@, § aww w0 @ W
g7 fowm

1. el vy wrfam ondfon @ 3= R
2, ey AT oy afeen @ 3= R |
#14) fan, ™o R W WY W EE I A
fa) A1

(h) A2

(&) 1322

d) AL A®2

. Fefafas s o faen fifao .

e e e o

1. EumETEEE & fawm & B
9, y.uferat % e & fag
3. wEe Faf & fem

THEE § | SRR w w3
(a) 132

thy 23fa

(e) &EH 1

d) wEAQ



49. Which one of the following StatesUTs has the

largest area under Coral Reefs in India 7
(a) Cujarat

(b}  Tamil Nadu

fc} Andaman and Nicobar [slands

id) Lakshadweep

B0. Which one of the following is congidered as an
apency function of commercial banks in
India ?
fa) Acceptance n't‘dapnmt.a.
ib)  Investment of surplus funds
e}  Acceptance of income tax paymenta
id)  Providing overdraft facilities

1. Which one of the following forms of money
supply is considered as the most widely used
in the Indian monetary system 7
{a) M1
(b M2
fe) M3
fd) M4

B2, Which one of the following is the first State in
Indin to have 100 percent households with tap
water connection 7
fa)  (sujarat
(b} Goa
e} Delhi
(d}y Andhra Pradesh

FDGT-S5-GKL

(1T -A)

Which one of the fllowing Labour Codes
notified:. by the Government of India
incorporated various provisions of the Central
Labour Acts such as the Factoriea Act, 1948
and Plantations Labour Act, 1851 7

fa) The Occupational Safety, Heslth and
Working Conditions Code, 2020

b} The Industrial Relationa Code, 2020
fel  The Code on Wages, 2019
idl  The Code on Social Security, 2020

If you were Lo browse a table of & recent perind
showing life expectancy at barth for all
ciategories of rural-urban and male-female
divisions for all States of India, you are not
likely to obaerve that

1. Urban life expectancy iz higher than the
rural ¢ne,

2. Male life expectancy is higher than the
female one.

Select the correct answer wsing the code given
below

ftmd 1only

(b} 2 only

(c Bothland2
(d)  Neither 1 nor 2

Consider the following statements ;

The Government is promoting the ‘Kisan
Drone’ fior

5 B Spraying weedicides,
2. Digitisation of land records.
4. Crop assessment.

Which of the statements given above is‘are
correct T

tal laondZ2
ib) 2and3
icl lonly
(dl 3 only
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id)
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Recontly lnunched “Jan Samsarth' portal

ia) provides single point access for
authenticated health information  to

(bl massts farmers to access links to wsaful
fe} provides access tp  Pan India
g-Government services,

(di  provides link to Government credit
schemes.

Recently India commissioned its first Liquid
mirror telescope at

(g} Himachal Pradesh

by Uttarakhand

ic} Ladakh

id? Arunachal Pradesh

Mational Trikal Research Institute is situated
at

i} Bilaspur
(b} Raipur

(e} Ranchi

id) New Dalhi

Avani Lekhara exeels in which one of the
following sporta 7
(a} Table Tennia

bl Cyeling
fed  Shooting
(d} Boxing

The atmosphere of Planet Yenus is made up of
thick and yvellowizh elouds of

{al Chlorine
i Sulphuric acid
ich MNitric acid

idi Bromine

(19-A)

A patient’s abdomen (alimentary conal) can be
examined by X-ray after administering which
one of the following metal salts in the patient's
masal T

(al Barium sulphate
bl Baritum chloride
(e} Strontium sulphate
id}  Magnesium chloride

Storage of biological tissues such as blood,
OFEANS, Semen requires low temperature
which is achieved upon the usage of

{8} Liguid mitrogen
(bl Solid esrbon dioxide
e} Liguid air

idl Heliuvm

In the joining of railway tracks, iron oxide is
made to rerct with

fa)  Aluminium
(b} Zinc

e} Copper

id} Tin

What was a munfarig in medieval peried 7
(a) Cannon

(b} Catapult

icl  (un carmiage

(d} Portable armotury
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B, egwiey 2. WW
C. [ 3 IEE
D

. Y 4, et

A
(a} 1
1
2
2
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(a) T 79 & B
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(a) HINGEGHIT

th)  FEand

() #leme

(d) ey
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T0.

Tl.

72,
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(a) VEME F6
(bl e SR i

(e) U9l FHAw
id)  TIHA T

frfeafiam @ @ Sy el & R # 2

(a) wiegifefes v w0 e, St oida el
wraEda aanfa o

(b WA s & Rew, G e s
wietEte st B #

(¢} Farm fofim = fgem, Fenl 9w ol
wreie A9 e #

() Tl feftr & B, fwd S
= 9 i wa
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&1 wad ged o B w2 0
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(el ﬂ'ﬁﬁ
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Match List [ with List IT and select the correct
answer using the code given below the Lists :

Ligt I Ligt IT
{Literary Wark) fAuthar)
A. Duic Ghatotkacha 1. Bhatti
B, Mrichehhakatibam 2. Bhasa
C, Kiratarjuniyam 3. Shudraks
D, Ravanavadha 4. Bharavi
Code @
A B C [ih)
im) 1 a 4 2
by 1 4 | 2
el 2 3 4 i &
dy 2 4 3 1

At the banks of which of the following rivers
was the Battle of Ten Kings fought in the
Early Vedic Period 7

la)  Sarasvati
b} Dnshadvati
el Parushni
(d} Shutudri

The Bengsl Famine of
worsened by

Locust attacks

Rat infestation

High levels of taxation

Smallpex apidemic

1769 - T0 was

{al
k)
el
id)

Which one of the following is not the work of
Ashvaghozha 7

(a)  Sarputroprokonene
bl - Buddhacharite

(e} Saundorananda

d}  Manjushrimulakalpa

Tl.

(21-A)

Fat in human body is stored in

{al Adipose tissoe
{h)  Hed blood cells
el Muscle tissue
id} Epithelial tssue

Which one of the following is a feature of
Membrana T

Bilayer of phospholipid melecule in
which proteins and cholesterel  are
embedded

Bilayer of proteins molecule in which
lipid and cholesterol are embedded

Bilayer of neutral lipid in which proteins
and cholesterol are embedded

Bilayer of neatral lipd
cholesteral and proteins

&l

(bl
e

id) laclding

Which one of the following parts of human
alimentary canal can be of maximum length ?

gl  Siomach

(b}  Small intestine
¢} Large intestine
(d} HRectum

While forming the ‘Indo-Pacific Economie
Framework for Prosperity’, the member
countries launched eollective discussions
towards future negofiations on four pillars.
Which one of the following is mot one of those
pillars 7

(a) Clonn energy, decarbonisation and
infrastructure

b} Defence cooperation and intelligence
gharing

tc) Supplychamn

(d)  Tax and anti-corruption
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The regions known as Donetsk and Luhansk
are sometimes mentioned in the news. They
are the separatist regions of

fa} Ethiopia

(b} Sudan

e} Ukraine

(di

Yemen

Recantly which of the following countries were
placed in the ‘Grey List" of Financial Action
Teek Fores ?

(a} Bolivia and Mozambique

(bl Colombia and Ecuador
() Iragand Qatar
{dl Turkeyand UAE

Which one of the following assiste a country
through ‘Extended Fund Feeility”, often talksd
about in news ¥

fa) International
Daévelopment

ibi International Monetary Fund

i) Inmternationsl Bank for Reconstruction
and Development

idl United Nations Development
Programms y

The terme ‘Ethereum, Solana, Polkadot and
Tether', sometime: mentioned in the news,
refer to

{al Croyplocurrencies
(b}  Earth Observation Satellites
(e} Hypersonic Cruize Missiles
(dy Virtun! Private HNetwork service
providers
(Z3-A)

Fund for Agricultural

™.

In which one of the following States has the
President's Rule been imposed most number of
times ? '

ta) Bihar

th) Karnataka
el  Manipur
{dl Pungab

The use of ‘Electors FPhoto Identity Cards
(EPICY by the Election Commission of India
waa started n whith one of the following

years 7

(a} 1942
(b} 1963
(e} 1985
id) 2001

Which one of the following best describes the
electoral aystem to elect the President of
India ?

ial Proportional Hepresentation

ib) Proportional Hepresentation and Single
Transferable Vote System

{c) First-Past-the-Poat System

id}  List Syaterm

Which one of the following statements about

Money Bill is mod correct 7

in} Money Bill cannot be introduced in the
Counril of States.

ihi The Counml of States has no power to

rejoct or amend the Money Bill,

The Speaker of the Lok Sabha has the
gole and final power in deciding whether
a Bill is a Monay Bill or otharwise,

The Council of Btates has no power to
dircusa the Money Bill,

[{H]

{d
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Which of the following States hashave
bicameral legislatare 7

1, Andhra Pradesh
2.  Telangansa

3. - Bihar

4.  Uttar Pradesh

Select the correct anawer using tlgemdn given
below :

jal  1only

ib) 1, Z2and 3 only
ic) Janddonly
i) 1,2 3andd

By which one of the following Constitutional
Amendment Acts, was the Article 21A (Hight
to Education) inserted into the Constitution of
India ?

ia) 83" Amendment Act
ib)  84F Amendment Act
(el 85" Amendment Act
(d)

A6 Amendment Act -

An ebject 18 droppod from a height onto the
floor. Which one of the following remains
uniform as it falls ?

{al  Its acceleration

(bl Its momentum

te)  Its kinatic ensrgy
(d)  Its potential energy

B7.

(25 —A)

Il an ohject is placed at the focus of a8 convex
lens, it image 18

{a] at the focus on the same side.
(b}  at the forus on the opposite side,
ie) coincident with the lens.

id) ot infinity.

Which one of the following statements about
the aperture of a convex lens is correct 7

(n} It i= egual to its radius of curvature.

(b) It isequal to its focal length.

e} It is independent of its radius of
curvature,

id}

It iz equal to half of its focal langth.

When water is heated from 0°C to 4°C, its
density

{a) remains conatant,

(b} increases.

¢} decresses,

id) first increases then decreases to its
original valge,

The acceleration due to gravity at the Earth's
surface depends on

(m) it masa anly.

{b)  its radios only.

{ed  both its mass and radius,
id}  wither its mass or its radius.
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consequent
gtream but at a
lower level
D, Resegquent 4. Whoss rcourse is
determined by the
ariginal slope of
the band
Code :
A B C n
{a) 2 1 4 a
(k) 2 4 1 3
fe) 3B 4 1 2
d} 2 1 4 2
FOGT-5-GKL

In which one of the following highlands of
India can you find temperate forests called
'Sholas’ 7

tn})  Nilgiris

(b} Vindhyas

(e} Satpuras
id} Himalayas

‘Pingos' are associated with which one of the
following process 7

(m) Glacial
(b) Peri-glacial
fed  Aeolian
{d)  Fluvial

Matech List [ with List I and select the correct
answer using the code given below the Lists ;

List { List Il
{Dratnage (Feature)
Pattern of River)

A, Insequent 1. Whose direction of
flow is controlled
by the rock
structure

B. Consequent 2. No apparent

reason why it
follows the path it
takes

Flow in the same
direction s  the

C. Subsequont a

(27-A)

#l. Whiﬂhn:nnnfthefulluwingprmm]md.lm

expansion of certain minerals as they take up
waber, causing additional stress in the rock ?

(n})  Hydrolysis
(b} Hydration
ie) Oxidation
(dy Carbonation

The Indian desert also known ns Marusthali is
believed to be under the sea during which one
of the follawing erns ?

ta) Cenozoic era

(b} Palasozoic ern

el  Mesoroie era

(d) Archaean and Pre-Cambrian era

Which among the following are Charvaka
Schools of Philosophy 7

1. Dhurtta

2 Myaya

3.  Sushikshita
4. Vaisheshiks

Select the correct answer uging the code given
below :

(a) 1,2and8

(b} 2 and 3 only
(¢) 2and 4 only
(d) 1and3 only



FDGT-5-GKL

o4, &4 B 148 vl % dhm, wepw Tdl #n

Al o, e W g s &
Fresfirfirs 8 & fm oF w0 wam famm o

I

2. e

3. s

i FEEE

4 fou mo 2 w1 wwm W= Al 3 gf
1, 2303

1,230 4

a2 3 3

1,33 4

{al
bl
(el

(d}

. frafefam § @ fem wmow wm & amagd sl
FredL el &di 8w 98 $3 3 7o e
%7

F:1)
it}

AT

HrETAEE
arerE

T

()
(dl

WA § s 2 % 9 & wn A Fefafee

] o fomm i

1. f e A wahE o oW e
W¥E T IR B 43 WY R |

2. @ &t =m f TEE § wwEnd, W
U % ek % wnm N, W % U
AT W W W UEE B WE (e
ot & @

T f 4 S/ s ad 3

{a) hEe 1

(bl e 2

(e) 1 a2

dy AWML, AR 2

10,

{28-A)

19t wovedl & qld § wentww 9
fufew Hifa fre ar wrfem o 2
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(b) AT sl e e e

(e ﬂﬁ%mam:ﬁwwnmﬂﬁ

(dy A FrTATAR FEAT BT SO
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P-751 (M P75 WA wiE= e Fain &
wafem & ¢

fa) iﬁﬁFﬁEHQQFﬂ

(b} THIEIe g

(c) TamamE ggam

d) HFETH
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the 8Y_ 14%  centories, in  the
Sangkrit texts and inscriptions, which of the
following terms were used to denots Muslims 7

L. Tuwrushka

2, ‘Tajika
3 Parashika
4, Kardsmaka

Select the correct answer uging the code given
beelow -

(e 1, 2and 3
by 1, Zandd
el 2and 3 only
id) 1,3 and4

In the citadel and lower-town areas of which
ang¢ of the following Harappan citles, have
sovorn]l large cisterns and reservoirs been
found 7

fa) Banawali

{br  Mohenjodare
() Dholavira
()

Rakhigari
Consider the following statements about
eavalry warfare in India :

1.  The iron stirrup made it pessible for the
armoured warrior to sit firmly on a
horse without falling off,

2. The iron stirrup also allowed a cavalry
charge with lances held tightly to the
body, without the rider being thrown off
by the shock of impact.

Which of the statements given above isfare

correct T

ia) 1only

ibi 2 only

ic} Both1land2
id) MNeither 1 nor 2

7.

1040,

(29-A)

The British policy towards Afghanistan in the
first half of the 19" century aimed at
Strengithening Afghenistan as a huffer
against Russia,

lal

(b)  Weakening Hussian influence in
Afghnnistan but not promoting a strong
Afghanistan either.

e} Promoting HRussian mnfluence in
Afghanistan to control insurgent tribal
lﬂnﬂm—a:

id} Annexing Afghaniatan a8 A
directly-controlled British Territory,

Recently, the United Nations agreed to change
the name of which one of the following
countries

imp  Algeria
by  Jordan
{el  Marocen

idl  Turkey

The SWIFT (The Society for Worldwide
Interbank  Financial ‘Felecommonication)
frequently mentioned in news, is essentially a

ial

Global financial intelligence agency

i} Global terror finence detection system
(e} Global money transfer system
idl  Global stock-market information

tharing system

P-T61 ior P-76 India] projoct refors to
manufacture of

(al  [Mesel-clectric submarines,

ibl  Nuclear-powered submarines.
(e} Aircraft carrier warships,
idl  Field guns.
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) 132
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(el 133
(d) e 3
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(30-A)
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(a) 265 %% & wm

(b} 26 ® 30 T4 & w4
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(dy 359 40 3 F =
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The term “Thermal High Altitude Area
Defense', sometimes mentioned in news, refers
| £

{a)  Anti-Migsile system,

(bl Air-launched eruise missile,
{e)  Aircraft navigation system.
(d) Surface-to-gir guided weapon.

With reference to BrahMos missile, consider
the following statements

1. It has a flight range of up to £90 km.

2. It ia capable of ottaining a speed of
2'8 Mach.

B Iis cruiging altitude couwld be up to
30 km.,

Which of the statements given above is'are
correct ?

fnd loand2
thi 2 only
(el  land3d
{dl 3 only

Which one of the following is mof & category
under which the President of India nominates
Membars of Parliamont 7

in} Literaturs*

(b}  Science

(e} Art

(dr State Servies

104.

104,

104,

(31-A)

India iz gtill-a young country as the median
nge of its population is

ia)  Less than 25 years

(bl Between 25 to 30 years

ici  Between 30 to 35 years

id] Between 35 to 40 years

Blue Helmets are

(a) United Nations Peacekespora
ib)  Violent Non-State Actors

{e)  Civil Society Organisations
{d) Environmental Organisations

Which one of the following eentral features is
not apsociated with Capitalist Economy 7

{a) There is generalised commodity
production — it has market value.

ibl  Productive wealth is held predominantly
in private hands.,

i) Economic life is organised according to
market principles.

id) Economic organisation is based on
planning, a supposedly rational process
of resource allocation,
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110,
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107. Which among the following is mof the strength | 111, Match List T with List 11 and select the correct

or chief benefit of Bicameralism ? answeor using the code given below the Lists :
ia] Becond chombers check the firat List I Fiwt I
chambers and prevent majoritarian rule. iCloud Form) (Characteristic)
ibl It checks the powera of the executive. A,  Cirrus 1. Storm clouds
{e}  The second chambers can art as a B. Cuomulus 2 High fog “Low
constitutional safeguard. Coiling”
. Nimbostratus 3 Fuir-wenther
id) Tt often acts as a check on democratic clouds
rule, particularly when their members D. Stratus 4. Entirely of ice
are non-clected or indirectly elected., particles
Code :
108. The Insolvency and Bankruptcy Board of % 3 B
India (IBB1} was established in the year
fa} 2 1 H 4
fal  2014
b
b) 9015 by 2 3 1 i
(¢} 2016 @ "4 3 . .
) 2017 idy 4 1 3 2

112. Which ene among the following planets has

108. Which one of the following is the other term
the lurgest number of known satellites ?

used for ‘Focos’ in  relation with an

earthquake ? (a) Mars

in} Hypocentre (b)  Neptune
(b}  Epicentre (¢}  Jupiter
(e} Isocentre (d}  Saturn

{d)  Principal Point
1138, Who among the following usurped power in

110. Which one of the fillowing is mof a mountain Kanyakohjfa  after the  death  of
peak of the Andaman and Nicobar Islands 7 Harshavardhana ?
ia} Saddle Peak () Adityazena
(b} Mount Thuillier ib}  Arunashva
(e Lhotze Peak e} Shashanks
{d}  Mount Diavolo (d} Lalitaditya

FDGT-5-GKL (33-A)
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The legend of Prahlad and his father

Hiranyakashyap wis first set out in the
{al Bhagwat Purana
{bl  Vishnu Purana

Vamana Purana

Agmi Purdna

Ll
id)

Which one of the following statements on the

issue of ownership according to  Smriti

literature is nof correct 7

ia) The paternal estate was to be divided
equally amongst sons.

(b} Women were allowed to retain the gifts
they received on the occasion of their
MArTings,

ic)  The giftiz to women on the oecasion of
their marmiage were known  as
Biridhana,

td}  Stridkana was not inherited by the

children without the permizsion of the
husband.

Who among the following was met a woman
labour leader who organised workers in the
strikes in the 1820s 7

Sarala Devi Chaudhurani

Ushabai Dange
Prabhabati Devi

fmh
bl
el

(dl  Anasuya Behn

117,

118.

119,

120,

(35-A)

Among the following countries, where did the
idon of “Socinl Market Economy' emerge in

1950s 7

(4} Germany

ib)  France

e United States of America
idy  United Kingdom

Who among the following Indian thinkers first
spoke of food-for-work programmes o
counteract the offects of fminea

fal  Kautilyn

bl Aryabhatta

el Chandragomin
id} Prabhakara

The 'Ramszar Convention' relates to which ane
of the following amcas 7

{al  Wetland preservation

{by  Promote afforestation

e} Action plan on elimate changes
id)  Combat desertification

Which one among the following reports defines
Sustainable Development as developmant that
meets the needs of the present generation
without compromising the ability of future
generntiong to nweet their own nesds ?

(a) Brundtland Report

(b} United Nationg Human Development
Heport

e Agenda-21 of the Rio Earth Summit

(dl  OECD Policy Brief (2008)
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